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5. Three points can be connected to form a triangle. Observe the picture below, take AB as

one side of the triangle. How many triangles can you draw? (A)10 (B)12 (C)15 (D)16
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10.  The radius of the four small circles are 2, 4, 6 and 8 cm respectively.
Their circle-center and the center of the great circle are both on the
same diameter. What is the radius of the largest circle in centimeters?
(A)18 (B)20 (C)22 (D)24
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15.  Six students share a table-tennis table and practice singles for 1.5 hours. How many
minutes can be practiced per person on average? (A)20 (B)25 (C)28 (D)30
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20.  There are four monkeys eating bananas. The first monkey eats 3 of all other monkeys.

The second monkey eats % of all other monkeys. The third monkey eats % of all other

monkeys. The fourth monkey ate all the remaining 46 bananas. How many bananas did
these four monkeys eat? (A)115 (B)118 (C)120 (D)121
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25.  Put 50 beads into the seven-color cup in order. The seven-color cup is red, orange, yellow,
green, blue, indigo and purple. Which color cup is the last bead put in? (A) purple (B)
blue (C) red (D) green
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